normalized X2

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

[ normalized x? probability |

107}
0.025
10727 K-
3 0.02
1073k
3 0.015
1074F
E 0.01E" 18-~ -a--
s Lol Lo
107 0.005f - -k-=-k-need Beesboadhendens
L o -0tttk
I ARt AT N
= R LT
PENEEEERENEE. | @
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
Na Prob(x?)
=== DQM_TT__original REDO100
= DQM_TT__originalREDO100f
1.8 e e e LEETRE deeedees Feees
(I SRR PEPET EPEPE SEPEPE PEPER EREPE
1.4F
1.2F
1
0.8f
0.6:— ......................................
158 s
;||I||II|;
0953 0 1 2 3
n
L . A E
S Lo S 2 18f-
F : - 3< 1.6f-
e e e v o
1A6: 1af-
. 1.2F
-
0.8F-
0.6F
0.4F
0.2F
o O
©
@
0.5
C—S
10 1072

1 -1
AR(track, jet?



	Contents
	Page 1


